

Nama :

Konversikan (ubah)

a.  $45^{\circ}\text{C} = \dots \text{ }^{\circ}\text{R} = \dots \text{ }^{\circ}\text{F} = \dots \text{ K}$

|                                                                                  |                                                              |                                        |
|----------------------------------------------------------------------------------|--------------------------------------------------------------|----------------------------------------|
| $45^{\circ}\text{C} = \dots \text{ }^{\circ}\text{R}$                            | $45^{\circ}\text{C} = \dots \text{ }^{\circ}\text{F}$        | $45^{\circ}\text{C} = \dots \text{ K}$ |
| $t_R = \left( \frac{\dots}{\dots} \times t_C \right) \text{ }^{\circ}\text{R}$   | $t_F = \left( \frac{\dots}{\dots} \times t_C \right) + 32$   | $= \dots \text{ K}$                    |
| $t_R = \left( \frac{\dots}{\dots} \times \dots \right) \text{ }^{\circ}\text{R}$ | $t_F = \left( \frac{\dots}{\dots} \times \dots \right) + 32$ |                                        |
| $t_R = \left( \frac{\dots}{5} \right) \text{ }^{\circ}\text{R}$                  | $t_F = (\dots) + 32$                                         |                                        |
| $t_R = \dots \text{ }^{\circ}\text{R}$                                           | $t_F = \dots \text{ }^{\circ}\text{F}$                       |                                        |

b.  $36^{\circ}\text{R} = \dots \text{ }^{\circ}\text{C} = \dots \text{ }^{\circ}\text{F} = \dots \text{ K}$

|                                                                                  |                                                                   |                                                    |
|----------------------------------------------------------------------------------|-------------------------------------------------------------------|----------------------------------------------------|
| $36^{\circ}\text{R} = \dots \text{ }^{\circ}\text{C}$                            | $\dots \text{ }^{\circ}\text{C} = \dots \text{ }^{\circ}\text{F}$ | $\dots \text{ }^{\circ}\text{C} = \dots \text{ K}$ |
| $t_C = \left( \frac{\dots}{\dots} \times t_R \right) \text{ }^{\circ}\text{C}$   | $t_F = \left( \frac{\dots}{\dots} \times t_C \right) + 32$        | $= \dots \text{ K}$                                |
| $t_C = \left( \frac{\dots}{\dots} \times \dots \right) \text{ }^{\circ}\text{C}$ | $t_F = \left( \frac{\dots}{\dots} \times \dots \right) + 32$      |                                                    |
| $t_C = \left( \frac{\dots}{4} \right) \text{ }^{\circ}\text{C}$                  | $t_F = (\dots) + 32$                                              |                                                    |
| $t_C = \dots \text{ }^{\circ}\text{C}$                                           | $t_F = \dots \text{ }^{\circ}\text{F}$                            |                                                    |